PARTS VIEW

KHITCH

WEWELER MBS 9T

_\mm/__x.mx..x\IJ NS _\1;,_. N .\_MJ.__J O
_/.._ﬂ 7l /__,“_u./._\ fjﬂ.km___/r?\_/_..ﬁ.u ) _.x /D_\._ _f__w._/..._\.. __/rﬁ/..._x._ _,/a.u./.._\.
) ] | _

.._.. -__ __

IMAGES FOR ILLUSTRATION PURPOSES ONLY

(03) 9369 0000 | (07) 3372 2223 | (08) 9350 6470

For Product Support call:

1

Bulletin No: KPS-001-0813 Rev4

www.khitch.com.au uncontrolled document when printed!



http://www.khitch.com.au/

PARTS VIEW

WEWELER MBS 9T

Ref No. PART No. DESCRIPTION APPLICATION
MBS-100 MBS-200
MBS-111 MBS-131 MBS-221
Ride Heights Ride Heights | Ride Heights
210 to 320 270 to 320 340 to 410
1 WUTO001IKWN290L | MBS HANGER BRACKET, H=290mm LH 1 1 1
2 WUT001KWN290R | MBS HANGER BRACKET, H=290mm RH 1 1 1
3 WUTO010A04K WEAR PLATE ADJUSTABLE 4 4 4
4 WFS100103S MBS TRAILING ARM HD 2 2 2
4.1 WC234267 TRAILING ARM BUSH 2 2 2
5 WUTO006A50Z AXLE SEAT - MBS 2 2 2
6 WUTO003A62K MBS-100 TAILEND 2 2 -
6 WUTO003A63K MBS-200 TAILEND - - 2
7 WUT999A947Z ZINC PLATE 2 2 2
8 WUTO007A40K SHOCK ABSORBER BRACKET 2 2 2
9 WUBB24N007G BOLT — M24x2x200 4 4 4
10 WUTO009A35G SPHERICAL WASHER — M24 4 4 4
11 WC290140G NUT — M24x2 4 4 4
12 WUBB27W004P BOLT — M27x2 2 2 2
13 WUTO009A69G SPHERICAL WASHER — M27 2 2 2
14 WUBM27N002Z NUT — M27x2 2 2 2
15 WC330092 NYLOCK NUT — M27x2 2 2 2
16 WDK91-9526W SHOCK ABSORBER MBS — RFS 2 2 2
17 WUS04335F AIR SPRING — @335 2 2 2
18 WC275125G BOLT — M20x2x122 4 4 4
19 WUBM20N002Z NUT — M20x2 4 4 4
20 WC301389G WASHER — M20 4 4 4
21 WUBB27W002G PIVOT BOLT — @30/M27x2x172 2 2 2
22 WUTO009A09G WASHER — @30/046 2 2 2
23 WB001M12D027 THREAD END — M12x1.75 2 2 2
24 WC270608 BOLT — M12x45 4 - -
24 WC270634 BOLT — M12x110 - 4 -
24 WC270654 BOLT — M12x190 - - 4
25 WC301348 WASHER — M12 10 10 10
26 WC330021 NYLOCK NUT — M12x1.75 10 10 10
27.1 WUT999A98A030 BUMP STOP — H=30mm 2 - -
27.1 WUT999A98A070 BUMP STOP — H=70mm - -
27.2 WUT999A98A090 BUMP STOP — H=90mm - 2
OPTION WUR700124H/1 AXLE LIFT KIT — AL-484 — MBS100 . 5
WUR700124H/2 AXLE LIFT KIT — AL-484 — MBS200 .

For Product Support call:
www.khitch.com.au uncontrolled document when printed!

(03) 9369 0000 | (07) 3372 2223 | (08) 9350 6470
Bulletin No: KPS-001-0813 Rev4 2



http://www.khitch.com.au/

